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Common Courge
COMMERCE
A 13—BASIC NUMERICAL <¥VIL'.~ FACTORY

Use of scientific | basic Coiculators and
Mathematical Statistical tables are permitted.
Part A

This part consists of three bunches of questisns carrying egual :viightog
Each bunch has fous guestion
Answer all twelve gurstion:
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@ If discriminant = 0, the roots are :

‘a: Real and unegual. (b) Rezi and equai
(¢: Imaginarv and unequal. (d) Nonc of these.

mount of deviation present in the data 8, 8,8, 8 81is:

iz 8. (b) 40.
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L.l The number of termsinthe A .Pp. 7,13, 12,0 . 205
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21 Define Index Number.
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Part C (Short Essay or Paragraph)

Answer any fiv > from
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¢ 11me series. Write its uses
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